
Volatility Pivots OHLC Traditional Pivots

Symbol is AAPL 400.50 High Long

R3 = 400.11 400.29 Close R3 = 399.69 Open

R2 = 398.74 R2 = 395.93 Short

R1 = 397.37 397.37 R1 = 394.44

Open = 396.00 396.00 Open Pivot = 392.17

S1 = 394.63 395.03 Low S1 = 390.68

S2 = 393.26 S2 = 388.41

S3 = 391.89 S3 = 384.65

Symbol is FSLR

R3 = 96.18 R3 = 101.5

R2 = 94.24 R2 = 96.17

R1 = 92.3 90.91 High R1 = 93.37

Open = 90.36 90.36 Open Pivot = 90.84

S1 = 88.42 88.42 S1 = 88.04

S2 = 86.48 85.70 Close S2 = 85.51

S3 = 84.54 84.78 Low S3 = 80.18

Symbol is RIMM 24.60 High

R3 = 24.18 R3 = 32.26

R2 = 23.73 23.94 Close R2 = 31.01

R1 = 23.28 23.28 R1 = 30.27

Open = 22.83 22.83 Open Pivot = 29.76

S1 = 22.38 22.52 Low S1 = 29.02

S2 = 21.93 S2 = 28.51

S3 = 21.48 S3 = 27.26

Symbol is NVDA

R3 = 16.21 R3 = 16.36

R2 = 16 16.10 High R2 = 15.79

R1 = 15.79 15.40 Close R1 = 15.54

Open = 15.58 15.58 Open Pivot = 15.22

S1 = 15.37 15.38 Low S1 = 14.97

S2 = 15.16 S2 = 14.65

S3 = 14.95 S3 = 14.08

Symbol is SPY

R3 = 123.56 R3 = 124.91

R2 = 122.81 R2 = 122.84

R1 = 122.06 121.97 High R1 = 122.14

Open = 121.31 121.52 Close Pivot = 120.77

S1 = 120.56 120.56 S1 = 120.07

S2 = 119.81 120.32 Low S2 = 118.7

S3 = 119.06 S3 = 116.63

Symbol is TLT

R3 = 112.49 R3 = 113.9

R2 = 112.1 112.24 Close R2 = 112.84

R1 = 111.71 111.71 R1 = 112.13

Open = 111.32 Pivot = 111.78

S1 = 110.93 S1 = 111.07



S2 = 110.54 S2 = 110.72

S3 = 110.15 S3 = 109.66


